AP-MP-MPS-MPL-MPC series

AP-MP-MPSMPL series

B Mode Control Knob

for continuous measurement

Push and turn left until it stops.

for peak-load recording

Push and turnright until it stops. It will pop out to be ready
for measurement. Press lightly to reset the needle.

[l Zero Out Adjustment

Turn mode control knob to FREE. Adjust scale needle by
turning scale ring with the body mounted at clesired angle

mpart PULL Pﬁ.L
Names N 7
(Tnd)
scale needle || —scale needle
_+—scale ring

i 6 i
\§\\-/2ff_.f,scaelﬁng
LA

. mode control
knob

——mode control
knob

T
oUUUo
TR

PUSH PUSH



MPC series

BIStandard Eqguipment

meter unit/MPC-5N~5KN control unit/C-101(2size AAA batteries)

conecting cord/KC-5(3.5¢)

OP-1.combination

able to be connected to load test
stand to adapt to various uses.

OP-2.timer ———————— to adjust buzzer length
' (0.5~10seconds—built-in function)

OP-3.electricsource AC adaptor(DC 3V)for longer hour
adaptor use

EIMode Control Knob

for continuous measurement (FREE)
Push and turn left until it stops.

for Peakload recording(PEAK)

Push and turn right until it stops. It will
pop out to be ready for measurement.
Press lightly to reset the needle.

PEAK (PUSHRESET)

Names

-\ __control

__load check 1md

B Zero Out Adjustment

Turn mode control knob to FREE. Adjust scale needle by
turning scale ring with the body mounted at desired angle.

BlLoad Check Setting

1.Connect meter unit to control unit.
(Green light indicates power on.)

2.Rotate setting disc toward H to set load check indicator
at approximate setting (must be higher than desired peak
load).

3.Turn mode control knab to PEAK. Gradually enter load
until scale needle reaches desired peak load measurement.

4 Back setting disc toward L until buzzer sounds and red
light turns on.(Load check setting is completed.)

5.Reset scale needle.

Note:lf there is no load check setting load check indicator
should be at H.

load check input red light green light

PULL PULL
Epart B setting disc
I o y e
o T ——setting disc — AC adaptor

indicator

scale needle

——mode control
knob

MPC

i PUSH
PUSH Hp

DC@ crgcw 13& on
| —— mode control v
knob D[ 9 %

—. .
indicator \ i
| — scale needle mounting screw M6x1 \ /

[UD/ (removal formula)
-

I ———scale ring

AV

USsH

\ / \
i [\
TT——hande mounting screw ‘zgtg;;ﬁ ](ﬂaﬂg;) power
MPC ’ :
TKN~5KN s - CONTROL UNIT
C-101



BAP series g
-mounting hole size
-Insert length to a main part is 8mm or less

145

&
30 \ 4—M3x0.5
B\VP-MPS-MPC series

‘mounting hole size(® B\ P-MPS-MPC series
*Insert length to a main part Is10mm or less -mounting hole size®@
_& ] -Insert length to a main part is10mm or less

N

130
145

—&

20 | ™S~ 4—M3x05 &

30 | S~ 4—M3x05
BN\ PL-MPC series

‘mounting hole size -size and screw saze at the time

_+ # of a mounting screw

—& @— —§-

? ¥
52 | T~ 4—M10X] 52 | T~ 4—MBX1

BiOne Year Guarantee (grglty %S.ggﬁgi warran for )

All trouble will be repaired free of charge unless the
seal is broken or the trouble is caused by any of the following.

@ disassembled or modified by any other than Attonic
personnel

@ mproper use
@0Oiling the unit
@ mproper cleaning (rust and dustbuild-up)

Attonic — data and check for relance. AT TONIC corp.

600-5 Higashi takadacho,
Toyohashi,Aichi, 441-81 15
Telephone.0532-41-5357

Facsimile. 0532-41-4826
http://www.attonic.co.jp

E-mail info@attonic.co.jp

o8] Q
0)) (0))




